PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN FALABA DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR									
	EMIS	Name Of School	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School	
1	230301217	Ansarul Islamic Primary School	Falaba District		Gbentu	90	10000	900,000	
2	77777777	Community Primary School	Falaba District		Kemosaya	147	10000	1,470,000	
3	77777777	Community Primary School	Falaba District		Shekuya	179	10000	1,790,000	
4	230101202	District Education Council Primary School	Falaba District		Bantatia	180	10000	1,800,000	
5	230901204	District Education Council Primary School	Falaba District		Dugurain	356	10000	3,560,000	
6	230701219	District Education Council Primary School	Falaba District		Firawa	142	10000	1,420,000	
7	230101204	District Education Council Primary School	Falaba District		Fulamanse	313	10000	3,130,000	
8	77777777	District Education Council Primary School	Falaba District		Jedia	202	10000	2,020,000	
9	230902237	District Education Council Primary School	Falaba District		Karimbu	173	10000	1,730,000	
10	230603206	District Education Council Primary School	Falaba District		Konkowakaro	210	10000	2,100,000	
11	230101222	District Education Council Primary School	Falaba District		Masenday	169	10000	1,690,000	
12	230101213	District Education Council Primary School	Falaba District		Sagalireh	290	10000	2,900,000	
13	230101224	District Education Council Primary School	Falaba District		Sinkunia	75	10000	750,000	
14	230101216	District Education Council Primary School	Falaba District		Sogoroya	146	10000	1,460,000	
15	230901214	District Education Council Primary School	Falaba District		Sonkani	170	10000	1,700,000	
16	230603210	District Education Council Primary School	Falaba District		Yarawabu	256	10000	2,560,000	
17	220508228	District Education Council Primary School	Falaba District		Yeria Moria	341	10000	3,410,000	
18	77777777	Islamic Primary School	Falaba District		Korekoko	200	10000	2,000,000	

PA	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN FALABA DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR								
	EMIS	Name Of School	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School	
19	230601229	Islamic Primary School	Falaba District		Teneselia	173	10000	1,730,000	
20	230601235	Islamic Primary School	Falaba District		Yirandu	208	10000	2,080,000	
21	230701227	Missionary Church Of Africa Primary School	Falaba District		Bambakalia	366	10000	3,660,000	
22	230602201	Missionary Church Of Africa Primary School	Falaba District		Banburo	238	10000	2,380,000	
23	230702232	Missionary Church Of Africa Primary School	Falaba District		Bandakanfayi a	298	10000	2,980,000	
24	77777777	Missionary Church Of Africa Primary School	Falaba District		Bandapine	210	10000	2,100,000	
25	230702203	Missionary Church Of Africa Primary School	Falaba District		Boikalia	368	10000	3,680,000	
26	77777777	Missionary Church Of Africa Primary School	Falaba District		Bokia	142	10000	1,420,000	
27	77777777	Missionary Church Of Africa Primary School	Falaba District		Borekoro	338	10000	3,380,000	
28	230602204	Missionary Church Of Africa Primary School	Falaba District		Daborma	265	10000	2,650,000	
29	221308219	Missionary Church Of Africa Primary School	Falaba District		Dankawalie	351	10000	3,510,000	
30	77777777	Missionary Church Of Africa Primary School	Falaba District		Dawulema	177	10000	1,770,000	
31	230502202	Missionary Church Of Africa Primary School	Falaba District		Dollar	346	10000	3,460,000	
32	77777777	Missionary Church Of Africa Primary School	Falaba District		Dombosul	175	10000	1,750,000	
33	230603202	Missionary Church Of Africa Primary School	Falaba District		Durukoro	203	10000	2,030,000	
34	230602232	Missionary Church Of Africa Primary School	Falaba District		Duwulema	100	10000	1,000,000	
35	230702205	Missionary Church Of Africa Primary School	Falaba District		Fankoya	198	10000	1,980,000	
36	230702205	Missionary Church Of Africa Primary School	Falaba District		Fankoya	184	10000	1,840,000	

PA	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN FALABA DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR								
	EMIS	Name Of School	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School	
37	230601205	Missionary Church Of Africa Primary School	Falaba District		Faragbema	210	10000	2,100,000	
38	230503203	Missionary Church Of Africa Primary School	Falaba District		Fayia	264	10000	2,640,000	
39	230602205	Missionary Church Of Africa Primary School	Falaba District		Fayimba Konoeya	147	10000	1,470,000	
40	230501202	Missionary Church Of Africa Primary School	Falaba District		Gberefeh	329	10000	3,290,000	
41	230601206	Missionary Church Of Africa Primary School	Falaba District		Gbongbokoro	228	10000	2,280,000	
42	230902207	Missionary Church Of Africa Primary School	Falaba District		Kaliyereh	215	10000	2,150,000	
43	230503205	Missionary Church Of Africa Primary School	Falaba District		Kamaron	248	10000	2,480,000	
44	230601207	Missionary Church Of Africa Primary School	Falaba District		Kamaya	236	10000	2,360,000	
45	230902209	Missionary Church Of Africa Primary School	Falaba District		Kania	84	10000	840,000	
46	230501214	Missionary Church Of Africa Primary School	Falaba District		Karifaia	225	10000	2,250,000	
47	230601208	Missionary Church Of Africa Primary School	Falaba District		Kenewa	190	10000	1,900,000	
48	230502207	Missionary Church Of Africa Primary School	Falaba District		Kiridu	214	10000	2,140,000	
49	77777777	Missionary Church Of Africa Primary School	Falaba District		Konbonthagia	348	10000	3,480,000	
50	230601224	Missionary Church Of Africa Primary School	Falaba District		Korowala Mansonia	125	10000	1,250,000	
51	230702218	Missionary Church Of Africa Primary School	Falaba District		Kulanya	380	10000	3,800,000	
52	230603207	Missionary Church Of Africa Primary School	Falaba District		Kulia	204	10000	2,040,000	
53	230601211	Missionary Church Of Africa Primary School	Falaba District		Madina	108	10000	1,080,000	
54	77777777	Missionary Church Of Africa Primary School	Falaba District		Mamburia	183	10000	1,830,000	

PA	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN FALABA DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR								
	EMIS	Name Of School	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School	
55	230501213	Missionary Church Of Africa Primary School	Falaba District		Manikalia Kiridu	304	10000	3,040,000	
56	230501213	Missionary Church Of Africa Primary School	Falaba District		Manikalia Kiridu	251	10000	2,510,000	
57	230602210	Missionary Church Of Africa Primary School	Falaba District		Mansofinya	420	10000	4,200,000	
58	230601212	Missionary Church Of Africa Primary School	Falaba District		Mansonia	299	10000	2,990,000	
59	230601212	Missionary Church Of Africa Primary School	Falaba District		Mansoniakura	188	10000	1,880,000	
60	77777777	Missionary Church Of Africa Primary School	Falaba District		Mantenyira	278	10000	2,780,000	
61	230602211	Missionary Church Of Africa Primary School	Falaba District		Marlia	248	10000	2,480,000	
62	77777777	Missionary Church Of Africa Primary School	Falaba District		Nenekoro	250	10000	2,500,000	
63	230603209	Missionary Church Of Africa Primary School	Falaba District		Nerekoro	215	10000	2,150,000	
64	77777777	Missionary Church Of Africa Primary School	Falaba District		Neya Chiefdom	201	10000	2,010,000	
65	77777777	Missionary Church Of Africa Primary School	Falaba District		Nyanakolia	350	10000	3,500,000	
66	230501219	Missionary Church Of Africa Primary School	Falaba District		Nyenikonkop eh	360	10000	3,600,000	
67	230602212	Missionary Church Of Africa Primary School	Falaba District		Porpon	241	10000	2,410,000	
68	230601213	Missionary Church Of Africa Primary School	Falaba District		Sangbamba	324	10000	3,240,000	
69	230601215	Missionary Church Of Africa Primary School	Falaba District		Saradu Neya	205	10000	2,050,000	
70	230601249	Missionary Church Of Africa Primary School	Falaba District		Seraya	110	10000	1,100,000	
71	230502210	Missionary Church Of Africa Primary School	Falaba District		Seria	436	10000	4,360,000	
72	77777777	Missionary Church Of Africa Primary School	Falaba District		Sesaywulia	396	10000	3,960,000	

PA	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN FALABA DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR								
	EMIS	Name Of School	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School	
73	230501208	Missionary Church Of Africa Primary School	Falaba District		Sonikoro	198	10000	1,980,000	
74	230601217	Missionary Church Of Africa Primary School	Falaba District		Soroya	180	10000	1,800,000	
75	230503222	Missionary Church Of Africa Primary School	Falaba District		Tambaiabalia	296	10000	2,960,000	
76	230601218	Missionary Church Of Africa Primary School	Falaba District		Tereror	123	10000	1,230,000	
77	230602213	Missionary Church Of Africa Primary School	Falaba District		Tinkebu	193	10000	1,930,000	
78	230802228	Missionary Church Of Africa Primary School	Falaba District		Tinkifira	162	10000	1,620,000	
79	230501210	Missionary Church Of Africa Primary School	Falaba District		Tumania	238	10000	2,380,000	
80	230502201	Roman Catholic Primary School	Falaba District		Danyoro	120	10000	1,200,000	
81	230501201	Roman Catholic Primary School	Falaba District		Farama	145	10000	1,450,000	
82	230901207	Roman Catholic Primary School	Falaba District		Gberia Timbakoh	432	10000	4,320,000	
83	230502204	Roman Catholic Primary School	Falaba District		Gbongbondor	185	10000	1,850,000	
84	230501204	Roman Catholic Primary School	Falaba District		Kamboili	345	10000	3,450,000	
85	230502206	Roman Catholic Primary School	Falaba District		Karawanie	225	10000	2,250,000	
86	230503209	Roman Catholic Primary School	Falaba District		Konkowakaro	121	10000	1,210,000	
87	230601231	Roman Catholic Primary School	Falaba District		Kurubonla	210	10000	2,100,000	
88	230502213	Roman Catholic Primary School	Falaba District		Lensenia	155	10000	1,550,000	
89	230301210	Roman Catholic Primary School	Falaba District		Mamudia	290	10000	2,900,000	
90	230603208	Roman Catholic Primary School	Falaba District		Manso	99	10000	990,000	

PA	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN FALABA DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR								
	EMIS	Name Of School	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School	
91	230502211	Roman Catholic Primary School	Falaba District		Mongo Bendugu	439	10000	4,390,000	
92	230502211	Roman Catholic Primary School	Falaba District		Mongo Kiridu	158	10000	1,580,000	
93	230503216	Roman Catholic Primary School	Falaba District		Moregbeia	140	10000	1,400,000	
94	230501205	Roman Catholic Primary School	Falaba District		Samisadu	147	10000	1,470,000	
95	77777777	Roman Catholic Primary School	Falaba District		Sanikoro	217	10000	2,170,000	
96	230502215	Roman Catholic Primary School	Falaba District		Sarafaia	135	10000	1,350,000	
97	230501218	Roman Catholic Primary School	Falaba District		Satan-Modia	145	10000	1,450,000	
98	77777777	Roman Catholic Primary School	Falaba District		Sawuria	376	10000	3,760,000	
99	230501207	Roman Catholic Primary School	Falaba District		Serekolia	385	10000	3,850,000	
100	230501209	Roman Catholic Primary School	Falaba District		Tilikoro	125	10000	1,250,000	
101	230501211	Roman Catholic Primary School	Falaba District		Tuba	150	10000	1,500,000	
102	230501220	Roman Catholic Primary School	Falaba District		Walia	288	10000	2,880,000	